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QUESTION 1

What would be used with Cloud Volumes Service to create Snapshot copies, catalog backups, and perform file-level
restores? 

A. Cloud Backup Service 

B. Azure NetApp Files 

C. Cloud Volumes ONTAP 

D. Cloud Sync 

Correct Answer: A 

 

QUESTION 2

What are two optional nodes in StorageGRID? (Choose two.) 

A. archive node 

B. API gateway node 

C. admin node 

D. cloud service node 

Correct Answer: AB 

 

QUESTION 3

What are three supported deployment solutions for NetApp StorageGRID? (Choose three.) 

A. virtual servers using VMware ESXi 

B. virtual servers using Docker containers 

C. virtual servers using Amazon EC2 

D. StorageGRID hardware appliances 

E. virtual servers using Microsoft Hyper-V 

Correct Answer: ABD 

 

QUESTION 4

What are three NetApp ONTAP storage efficiencies? (Choose three.) 
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A. compression 

B. thin provisioning 

C. quality of service 

D. deduplication 

E. audit logs 

Correct Answer: ABD 

 

QUESTION 5

Your business has access to on-premises applications and decides to distribute some of the workload onto a public
cloud provider. 

In this scenario, what is this architecture called? 

A. hybrid cloud 

B. public cloud 

C. community cloud 

D. private cloud 

Correct Answer: A 
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